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Ideals for irreducible component#ﬂ)f Xpar

I = (w4 u™ 4+ fut1)

* 1 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u®4u*+.--+u+1)

(i) Arc colorings

a2 =
1
a1l = U2
U
ag = 3
6 u® +u

ag =
wd +3ul +ut —2u2+1
—u8 — 4ub — 4u*

u? 4+ 9u® 4 —3u? +1 >

ayp =
a2 = \u?? +10u?0 + - — 10u* + u?

—ul? — 510 — 7u® 4 2ut — 3w+ 1
w'? + 6ul0 + 1208 + 8ub + ut + 2u?
—udl — 140 + . 2005 — 8u3>

ag = udl + 15u?% + - — 8ud + u
—u?) — 18u?T + -+ — 2205 + 6u?
ar =\ —ut — 1943 + ... +13u° + u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*? —4u*? + ... + 8u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘1 u®® — 15u™ + -+ + 9649u — 1519
€2,C3,Ce6 R IS |
cr
€4 ut® — oyt 4 — TTu + 185
Cs5, €10, C11 u futt b fut 1
s, C9, C12 u® 4+ 5u 4 - — Thu — 11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y —29y* + ... 4 732811y — 2307361
C2,C3,Cq y45_53y44++3y_1
cr
€4 y*® + 23y - — 661921y — 34225
C5,C10, C11 y45+43y44+'--—|—3y—1
C8, C9, C12 Y 4+ 51y 4 ... — 2229y — 121




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y=1CS)

Cusp shape

u = —0.694472 4 0.4621471

—15.5741 — 8.01301

—5.65409 + 5.671001

u = —0.694472 — 0.4621471

—15.5741 + 8.01301

—5.65409 — 5.671001

u = —0.653290 4 0.5176301

—15.7763 + 3.52471

—6.18458 + 0.180871

u = —0.653290 — 0.5176301

—15.7763 — 3.52471

—6.18458 — 0.180871

u= 0.676367 + 0.4613661

—7.18094 + 5.791581

—3.96237 — 7.083111

u= 0.676367 —0.4613661

—7.18094 — 5.791581

—3.96237 4 7.083111

u= 0.646732 + 0.4971821

—7.31795 — 1.399031

—4.46873 + 0.977361

u= 0.646732 —0.4971821

—7.31795 + 1.399031

—4.46873 — 0.977361

u = —0.652812 4 0.4701401

—4.81518 — 2.158711

—0.09882 4 3.078441

u = —0.652812 — 0.4701407

—4.81518 + 2.158711

—0.09882 — 3.078441

u = —0.133945 4 1.2207801 —8.55123 — 2.709341 0

u = —0.133945 — 1.2207801 —8.55123 + 2.709341 0

u = 0.042496 4 1.2322901 —2.07584 + 1.448271 0. —5.059181
u= 0.042496 — 1.2322901 —2.07584 — 1.448271 0.+ 5.059181

u= 0.616614 + 0.2534851

—17.36995 + 4.810911

—1.70501 — 6.627641

u= 0.616614 — 0.2534851

—7.36995 — 4.810911

—1.70501 4 6.627641

u = 0.156680 + 1.3462401 —3.63417 + 2.800991 0
u = 0.156680 — 1.3462401 —3.63417 — 2.800991 0
u = —0.195571 4 1.3645501 —4.96920 — 5.950621 0
u = —0.195571 — 1.3645501 —4.96920 + 5.950621 0

u= 0.314112 + 0.5277661

—8.57820 — 1.588931

—5.96750 — 0.203481

u= 0.314112 — 0.5277661

—8.57820 + 1.588931

—5.96750 + 0.203481

u= 0.222603 4 1.3786701 —12.5405 + 7.85751 0
u = 0.222603 — 1.3786701 —12.5405 — 7.85751 0
u = —0.102260 + 1.3935601 —6.53884 — 0.760131 0
u = —0.102260 — 1.3935601 —6.53884 + 0.760131 0

u = —0.560189 4 0.2170341

0.02712 — 3.198531

1.49402 + 9.605911

u = —0.560189 — 0.2170341

0.02712 + 3.198531

1.49402 — 9.605911

u = —0.594571

—4.94513

3.01030

u = 0.09606 + 1.437671

—14.7381 — 0.15157




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u

= 0.09606 — 1.437671

—14.7381 + 0.15151

0

u =

0.493436 + 0.1215481

1.008560 +- 0.4657111

7.68686 — 1.448481

S
\

0.493436 — 0.1215481

1.008560 — 0.4657111

7.68686 4 1.448481

u = —0.23186 + 1.483961 —11.13820 — 5.387921 0
u = —0.23186 — 1.483961 —11.13820 4 5.387921 0
uw=0.24189 + 1.485371 —13.4825 + 9.14361 0
u= 0.24189 — 1.485371 —13.4825 — 9.14361 0
u= 0.22338 + 1.491661 —13.76630 4 1.766871 0
u= 0.22338 — 1.491661 —13.76630 — 1.766871 0
u = —0.24882 + 1.489041 17.5851 — 11.45611 0
u = —0.24882 — 1.489041 17.5851 + 11.45611 0
u = —0.22026 + 1.500771 17.1392 + 0.35291 0
u = —0.22026 — 1.500771 17.1392 — 0.35291 0

u = —0.239609 + 0.3775391

—1.077410 4 0.6195711

—5.52422 — 1.427381

u = —0.239609 — 0.3775391

—1.077410 — 0.6195711

—5.52422 + 1.427381




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u®® —15u* + - - + 9649u — 1519
C2,C3,Cgq u45_u44_~_.”+u_|_1
cr
Ca u®® —ut o~ TTu + 185
C5,C10, C11 u® Futt a1
Cg, Cg, C12 U45+5U44+"'*75U711




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 Y — 20y + ... 4+ 732811y — 2307361
€2, €3, C6 P =53y 4+ 43y —1
cr
C4 y* 23y ... — 661921y — 34225
C55 €10, C11 yP A3y 4+ 3y — 1
cs, Cy, C12 Y + 51yt .. — 2229y — 121




